

$$y = \tan(-x + \frac{\pi}{2})$$

$$x=0 \rightarrow y = \tan \frac{\pi}{2} = 1 \rightarrow B=1$$

$$\tan(-x + \frac{\pi}{2}) = 0 \rightarrow x = \frac{\pi}{\lambda} \rightarrow C = \frac{\pi}{\lambda}$$

$$S = \frac{AC \propto B}{r} = \frac{\frac{\pi}{\lambda} \propto 1}{r} = \frac{\pi}{\lambda}$$

$$\lim_{x \rightarrow A} \tan(-x + \frac{\pi}{2}) = +\infty$$

$$-x + \frac{\pi}{2} = \frac{\pi}{2} \rightarrow A = \frac{-\pi}{\lambda}$$

$$x^2 (\sin \alpha) x - \frac{1}{2} \cos^2 \alpha = 0 \xrightarrow{x=\frac{r}{p}} \frac{x}{a} - \frac{r}{p} \sin \alpha - \frac{1}{2} \frac{\cos^2 \alpha}{x} = 0$$

$$\frac{x}{a} - \frac{r}{p} \sin \alpha - \frac{1}{2} + \frac{1}{2} \sin^2 \alpha = 0 \xrightarrow{\times 2} 2 \sin^2 \alpha - 2 \frac{r}{p} \sin \alpha + 1 = 0 \rightarrow \sin \alpha = \frac{r}{a} \quad \text{G.O.E}$$

$$\S 1 + \tan^2 \alpha = \frac{1}{\cos^2 \alpha} \rightarrow \cos^2 \alpha = 1 - \sin^2 \alpha = 1 - \frac{r^2}{a^2} = \frac{a^2 - r^2}{a^2}$$

$$\rightarrow 1 + \tan^2 \alpha = \frac{a}{\lambda}$$

$$\log(\sin \alpha) - \log(-\cos \alpha) = \log p \rightarrow \log \frac{\sin}{-\cos} = \log p$$

$$\frac{\sin}{-\cos} = p \rightarrow \frac{\sin}{\cos} = \tan = -p \rightarrow \S \cos^2 = \frac{1}{1 + \tan^2} = \frac{1}{1 + p^2} \rightarrow \cos = \frac{-1}{\sqrt{1 + p^2}}$$

$$\sin = \sqrt{1 - \frac{1}{1 + p^2}} = \frac{p}{\sqrt{1 + p^2}}$$

$$\sin \alpha - \cos \alpha = \frac{\sqrt{1 + p^2}}{1}$$

$$\sin^2 + \cos^2 = \frac{x}{a} \xrightarrow{\cos^2 = 1 - \sin^2} \sin^2 - \sin^2 + 1 = \frac{x}{a}$$

$$\cos^2 \sin^2 = \frac{\cos^2 (1 - \sin^2)}{2} \rightarrow 1 + \sin^2 - 2 \sin^2 + \sin^2 = \sin^2 - \sin^2 + 1 = \frac{x}{a}$$

$$\frac{r \sin x + \sin x \cos x}{r(1 - \cos^2 x)} = \frac{\sin x (r + \cos x)}{r \sin^2 x} < 0 \rightarrow r \sin x < 0 \rightarrow \sin x < 0$$

$$\sin x \tan x - \frac{1}{\cos x} = \frac{\sin^2 x - 1}{\cos x} = \frac{-\cos^2 x}{\cos x} = -\cos x > 0 \rightarrow \cos x < 0$$

$$\frac{r}{\sin n} + \frac{r}{\cos n} = \frac{r \cos n + r \sin n}{\sin n \cos n} = 0 \rightarrow r \cos n + r \sin n = 0 \xrightarrow{\cdot \cos n} r + r \tan n = 0$$

$$\tan n = -\frac{r}{r} \quad \cot n = \frac{1}{\tan n} = -\frac{r}{r} \quad \tan n + \cot n = -\frac{r}{r} - \frac{r}{r} = \frac{-8-9}{9} = \frac{-17}{9}$$

$$\frac{\sqrt{1 + \sin^2 \alpha}}{\sin^2 \alpha + \sin^2 \beta} \xrightarrow{\Delta = \beta - \alpha, \quad 1 = \beta - \alpha} \frac{\sqrt{1 + \cos \epsilon}}{\sin^2 \beta \cos^2 \alpha + \cos^2 \beta \sin^2 \alpha + \sin^2 \beta \cos^2 \alpha - \sin^2 \beta \cos^2 \alpha}$$

$$= \frac{\sqrt{r \cos^2 \beta}}{r \sin^2 \beta \cos^2 \alpha} = \frac{\sqrt{r} \cos \beta}{r \sin^2 \beta \cos^2 \alpha} = \frac{\sqrt{r}}{r} \cdot r = \sqrt{r}$$

$$1 - r \sin^2 \alpha = \cos \beta \quad r \cos^2 \beta - 1 = \cos \alpha \quad \frac{1 - \tan^2 \beta}{1 + \tan^2 \beta} = \cos \epsilon$$

$$\Rightarrow \cos \epsilon = \cos \alpha \cdot \cos \beta \cdot \cos \epsilon \xrightarrow{\div \sin \alpha} \frac{\cos \beta \cdot \cos \epsilon}{\sin \alpha} = \frac{\cos \beta \cdot \cos \epsilon}{\sin \alpha}$$

$$= \frac{\frac{1}{r} \cos \beta \cdot \sin \alpha \cdot \cos \epsilon}{\sin \alpha} = \frac{\frac{1}{r} \cos \epsilon \sin \epsilon}{\sin \alpha \cos \beta} = \frac{\frac{1}{r} \sin \alpha}{\sin \alpha} = \frac{1}{r} \cos \beta = \frac{1}{r} \tan \alpha$$

$$\cancel{\sin \alpha + r \cos \alpha = r} \rightarrow r \sin \alpha + \sin \alpha = r \rightarrow \sin \alpha = r - r \cos \alpha \rightarrow \sin^2 \alpha = \epsilon + 9 \cos^2 \alpha - 11 \cos \alpha$$

$$\sin \alpha + r \cos \alpha = r \rightarrow \sin \alpha = r - r \cos \alpha \rightarrow \sin^2 \alpha = \epsilon + 9 \cos^2 \alpha - 11 \cos \alpha$$

$$1 = 10 \cos^2 \alpha - 11 \cos \alpha + \epsilon \rightarrow 10 \cos^2 \alpha - 11 \cos \alpha + r = 0$$

$$\Delta + \Delta \cos^2 \alpha - 11 \cos \alpha + r = 0$$

$$\sin B \sin C = \cos^2 \frac{A}{r} \xrightarrow{A+B+C} \sin B \sin(A+B) = \cos^2 \frac{A}{r}$$

$$\sin B (\sin A \cos B + \cos A \sin B) = \frac{1}{r} + \frac{\cos^2 A}{r} \rightarrow \sin A \sin B \cos B + \cos A \sin^2 B = \frac{1}{r} + \frac{\cos^2 A}{r}$$

$$\frac{1}{r} \sin B \sin A + \frac{1}{r} \cos A (\sin^2 B - \frac{1}{r}) = \frac{1}{r} \rightarrow \sin^2 B \sin A - \cos^2 B \cos A = 1$$

$$\rightarrow -\cos(A+B) = 1 \rightarrow A+B = 180^\circ \rightarrow A+B = 180^\circ \rightarrow A+B = 180^\circ$$